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5 / Math  / L-3  1 | P a g e  

Q.1)Fill in the blanks .                                                                            (5Q X 1M=5M) 

1)If we subtract 1 number from the given number, we get _________________ 

2)4000 -1 =__________________ 

3) 0 ÷ 3600 =________________ 

4) 8900721 + 3399119=_____________________ 

5) 7325617 – 5834152 =____________________ 

Q.2) Solve the following –                                                                          

a) Multiply-                                                                                              (2Q X 2M=4M) 

 i) 7161 × 13                         ii) 3205 x 255                                                                                                                                              

b)Divide                                                                                                   (2Q X 2M=4M) 

i)7892379 ÷ 33                                 ii)900091 ÷ 51 

Q.3) Work out the following story problems.                                             (4M)                                                                            

1)Ruchi purchased one and a half kg apples, 2 kg flour, and 3 toffees. The price of apples is 

`50 per kg, the price of flour is `20 per kg, and the price of toffees is `5 per piece. Ruchi paid 

`150 to the shopkeeper and returned a packet of bread. The price of a packet of bread is `25. 

How much money the shopkeeper will return to Ruchi? 

Q.4)Write True or false.                                                                           (4Q X 1M=4M) 

1)The commutative property does not work for addition and multiplication. 

2)If a number is divided by 0 ,the answer is 1. 

3)If a number is subtracted from itself ,the answer is one . 
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